David Youngberg

Econ 310 

Homework 4—Key
Please answer all the following on a typed, stapled separate sheet of paper. Make sure that you justify your answers and use your own words.
1. We often discussed that the fundamental goal of a central bank is stability. Reiterate the key reason for this goal and why the pursuit of this goal could have negative unintended consequences. Which claim (the advantage or the disadvantage) do you find more important to prioritize? Why?
The main reason for stability is to provide a reliable arena for investors to plan which incentivizes them to invest. Without investment there can be no economic growth and if the economy is too unpredictable, no one would dare investing. In the pursuit of stability, though, it is possible to help those that should not be helped. Preventing collapse and panic most often means the central bank must prevent a private business or endeavor from failing. This de facto safety net creates a moral hazard and may lead to too much risk taking. Investors will engage in a venture more haphazardly, knowing if things go wrong the Fed will swoop in and fix it, leading to over-investment. Both sides are equally important but given other institutions for stability (private property, contract enforcement) the marginal benefit is likely less than the marginal cost of moral hazard. Still, the system seems to work rather well as it stands so perhaps not. Given the lack of a solid counterfactual, it could easily go either way.
2. What is the main strategy (not tool, but strategy) the US Federal Reserve uses to achieve price stability?  Describe an advantage and disadvantage of this system. Which of the two do you think is more important? Why?
The US Federal Reserve relies heavily on the implicit nominal anchor strategy for achieving price stability. Because everyone knows the Fed is to do its best to control inflation and maintain economic stability, there is a stable environment where this expectation permeates throughout the economy. Because their responsibility is primarily driven from an implication they have a great deal of flexibility in fulfilling that expectation. Knowing their power rests fundamentally on the fact that people have confidence in their ability to generate price stability, they have an incentive to do just that. Historically this system works well and thus there appears to be no strong desire to revise it in the future. However, this method has a tremendously poor accountability system and is strongly dependent on the personality of whoever’s in charge. It doesn’t take much to undo this system—just one really bad chairperson and enough people not being diligent to notice or do anything about the mistakes.
This is a difficult puzzle to balance. It has a good track record with a high variance—things can go really good or really bad based on the personality of the one in charge. It reminds me a bit of the Roman Empire with the danger of a Caligula or a Nero gaining power and undoing the (relative) good the predecessors were able to accomplish. Moreover, the fact that the Fed chair is not the ultimate authority (still needs to report to Congress, still needs to be appointed) assuages some of the possibility of tyranny. On the whole, the positive record seems to outweigh the unlikely possiblity of the disaster.
3. Carefully describe how the US Federal Reserve alters the interest rate.

Essentially, the Fed influences the interest rate by impersonating parts of the economy (much like how a country influences their exchange rate by simulating parts of the foreign exchange market). The Fed has two basic powers at its control: the ability to print (or generate it electronically) money and the ability to buy or sell great heaps of government bonds. Because the supply of money affects the federal funds rate and thus the interest rate (just like the supply of beef affects the price of beef), the Fed can affect the interest rate by changing the supply of money. If the Fed buys government bonds from banks (using money it printed), it can increase the amount of money in the system and lower interest rates. If the Fed sells government bonds to banks, it can decrease the amount of money in the system and increase interest rates.
4. Carefully describe the two ways how expansionary monetary policy can lead to a short term increase in GDP via an increase in consumption.
Expansionary monetary policy will increase the money supply and put downward pressure on interest rates. People will borrow more, allowing them to purchase more durables. Consumption in “big ticket items,” such as cars, homes, rare paintings, swimming pools, big weddings, etc will increase, thus C increases, thus GDP increases.
Expansionary monetary policy will also put temporary upward pressure on the price of stocks thanks to an increase in money supply (particularly in part to money illusion). This increase in perceived wealth encourages stock holders to buy more things (from summer homes to new golf clubs—all kinds of investors, big and small, would be affected by this). This causes C to increase, thus GDP increases.
5. At the end of When Genius Failed, what role (if any) did the Federal Reserve play with LTCM? What do you think would have happened if they had not intervened?
The Fed organized the heads of the major Wall Street banks (all of which were deeply involved with the mutual fund) so that they would all meet together and hammer out a way to save the fund (and thus avoid a systematic collapse of the financial market). The Fed’s role here was passive compared to its recent involvement with Bear Sterns, but it was critical. These banks are rivals with another and don’t cooperate—certainly not so many at once. Yet they all had a vested interest in not seeing the fund go bankrupt because defaulting would threaten the banks and thus the financial world at large. But if one firm spent the money to save it, it would help its rivals. If one refused to help, it would unlikely be the difference because success and failure and thus could get the benefits without the costs. Complete cooperation was critical and arguably the Fed was arguably the only one who could pull it off.
If the Fed had not intervened, and LTCM defaulted on just one of its trades, all other trades would automatically default as well—$1.4 trillion in value. Banks would scramble to collect collateral and thanks to the slim haircuts and enthusiasm of the banks there would be little of that to go around. Massive losses across the board for these banks from all over the world would then affect the national, even global economy. Some banks might even go bankrupt themselves. In the worst case scenario, the financial world would experience general instability for years to come. At the same time, knowing this safety net exists might well have induced the banks today to so zealously embrace sub-prime mortgages. It is impossible to know for sure if current housing slumps are at all a product of this little-known near-collapse of the quiet Greenwich fund that almost took down the biggest banks of its day and threatened the long-term stability of the global economy.
